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A 1~5, please complete the sentences with an appropriate word or phrase.

(A) 1. It has been established beyond that this disease can be cured.
(A) dispute (B) vdidity (C) experiment (D) function

(C) 2 .Youwill haveto consult Dr. Smith-thisis not in my :
(A) kingdom (B) knowledge (C) domain (D) place

(D) 3. Her cold made her voice sound
(A) coarse (B) tarse (C) tense (D) hoarse

(A) 4. Hisfinger bled when he it with aneedle.
(A) pricked (B) dispersed (C) exploited (D) bustled

(©) 5. The murder wegpon found in the house was evidence.
(A) disriminating  (B) invigording  (C) incriminating (D) undulating

B 6~15, pleaseread thefollowing threetexts. In each text some words have been deleted and
replaced with a blank. Select from the four given choicesthe best answer toinsert the
blank to complete the text.

Text 1

In some mountain regions, the daytime temperatures are above the freezing point of water.
Water  (6) __ inrock. At night, temperatures drop below the freezing point. So the water
___(7)_ice. When water freezes, it expands. Asthe water in a crack expands, it pushes with
great force__ (8)__ . Thiscausesthe crack to become larger. They daily freezing and melting
of water causes large rocks to bresk into smdler pieces. Thiskind of physica weeathering is
caled frost action.

(D) 6. (A) breezesinto the cracks (B) squeezes into cracks (C) beepsinto the cracks
(D) seepsinto cracks

(A) 7. (A) tunsto (B)isfrozenby (C) vaporizesinto (D) will be transformed into




(C) 8. (A) from each side of the crack  (B) of the cracking rocks
(C) againgt both sides of the crack (D) upon either side of a crack

Text 2

Objects that are not in motion can aso have energy. A car sopped at the top of hill has
energy. Thistype of energy is called potentia energy. Potentid energy is energy that is stored.
For example, the stopped car has potential energy because of its position on the top of the hill.
Another example of potentid energy is__ (9)___ . Because of its stretched position, its has
potentid. If you __ (10)__ the stretched rubber band, it will move.

(D) 9. (A) like gtretching a rubber band  (B) smilar to arubber band
(C) to dtretch the rubber band (D) a stretched rubber band

(A) 10. (A) letgoof (B) arerdeased from (C) get rid of (D) cut off

In the mid 1970s the networksin Americatried to bresk down traditiona viewing habits
by introducinganew __ (11) _, themini-series. Theideawasto get people_ (12)  on
the seriesin the first episode --- usudly broadcast on Sunday night --- so they would
__(13)___ againthe next saverd evenings. Mini-series have proven very popular and they are
often scheduled during * sweep periods,  when TV dationsare  (14)  to determine
audience Szes. The mini-series concept actualy came from public broadcasting, which began
showing BBC produced _ (15)__ such as The Forsyte Saga in 1969 and Upstairs
Downstairs.

(D) 11. (A) formdlity (B) formulation (C) familiarity (D) format
(A) 12. (A) hooked  (B) attached (C) addicted (D) hanged

(B) 13. (A) wipe out (B) tunein (C) listento (D) fade in

(D) 14. (A) inspected  (B) reviewed (C) suspected (D) monitored
(C) 15. (A) highlights (B) gimmicks (C) serids (D) albums

C 16~20, each of the following sentences has four underlined words or phrases. Choosethe
onethat iswrong.

(C) 16. It has been discovered that when bananas are completely ripe or cooked, they are one of the
A B
most digestion food, and of great value in tregting certain diseases.
C D




(A) 17. A deep-orange color carrot, rich in vitamin A, has been produced at the Universty of

A B C D
Wiscongn.
(C) 18. Ozoneis extremdy active chemically and succeeds in damaging any vegetation they comes
A B C
in contact with.
D

(D) 19. Bone cdls are nourished by afluid caled plasma, derived from the blood, but containing
A B C
neither the red or the white corpuscles.
D

(C) 20. Located inthe cranid cavity in the skull, the brain is the larger mass of nervetissuein the
A B C

human body.
D

D 21~25, in each item you will read an incomplete sentence. From the four given choices select
the best answer to complete the sentence.

(C) 21. What we need .
(A) isan dphabetical gudents lig  (B) isalist of broken down students aphabetically
(C) isan dphabeticd lig of students (D) isaligt of students broken down aphabeticaly

(B) 22. Attending asmdl collegein Tawan .
(A) differs from a public large universty
(B) is different from atending alarge public universty
(C) isdifferent from alarge public university
(D) isadifference than a public large university

(D) 23. to head the fund raising has a difficult task ahead.
(A) She who we choose (B) It is shethat we choose
(C) Itisshe but no one ese that we choose (D) She whom we choose

(C) 24. It wasfantadtictofly. . Such an experience was unforgettable.
(A) While flying low, the windmills were seen
(B) When we are flying low, the windmills were seen
(C) When flying low, we saw the windmills
(D) We saw the windmillsflying low




(B) 25. The symptoms of these young childreninclude .
(A) cough, fever, and that exertion makes them short of breath
(B) cough, fever, and shortness of bresth upon exertion
(C) cough, fever and exertion that makes them short of breath
(D) that they cough, fever and exertion makes them short of breath

|l IReadi ng CompdrOe,hernesadont.he2b6passages and answe |
passage. Select the be&tpansweretanoheach que

Text A

After acareful sudy by the Ministry of Education, one public school added one-haf hour
to the school day and increased the school year from 180 to 190 days. Parents and pupils
objected to these changes because vacation time would be shortened. Teachers, however,
agreed that the changes were necessary for aquality education program.

(B) 26. Inthis passage the writer .
(A) showsahiasin favor of the change of the school curriculum
(B) reports the facts objectively
(C) agrees with the parents and pupils.
(D) praisesthe teachers for their support of the changes

Text B

Among many scientigs there is a concern about the genetic effects on the human
population of increased exposure to radiation. This could come about through medica practice
or through the use of unclear power plants or wegpons. The naturd mutation rate can be
doubled by the low dose of 25 roentgens per generation. This increased mutation rate would
grestly increase the prenatal and postnatal desth rates of human infants, aswell aslead to more
cases of dedf injuries, low-grade menta deficiency, and muscular symptoms, to name just three
types of mutation for certain defects.

(D) 27. What is the main theme of this passage
(A) The writer wants to aleviate worries about genetic mutation.
(B) Thewriter wants to show the invisible danger and risks of radiation a work places.
(C) The writer wants to identify the genetic mutations caused by radiation.

(D) The writer wants to convince people of the danger of genetic defects caused by
radiation.



(D) 28. The writer of this passage would possibly not agree with which of the following

(A) Thelong-term effects of additiond radiation should be considered before whole
populations begin space travel.

(B) Mutation rates can be tripled through low levels of radiation in each generation.

(C) Prenata and postnata development are affected every little by the physica
environment.

(D) Thereislittle danger of genetic mutation from medica treatment which has been
neglected by the generd public.

Text C

A person with many years experience as a programmer or andyst may find a new career
in computer networking. The challenge posed by the explosion of microcomputersisto
provide access to more than one system and to integrate single computersinto aloca area
network (LAN) or aregiond or nationa network so that computers can talk to each other and
share data.

One termina can be made to do many things. Each one can tak to the main computer and
digtribute the information obtained to many individuals or businesses. To do this, computer
language must become more standardized. Internationa computer language committees are
studying the possibility of developing alanguage more like English, which will be more
successful and easier to learn than the symbolic and technica languages now in use.
Telephones and cable will be used to mix voice and data. Televison setswill perform the
functions of trangmitting, receiving, printing, copying, and talking. Smal micro-computers
will be linked in anationa network that will create a demand for writing, demondtrating, and
serving the new software. A person with an andytica mind will find a creative chalengein
developing new hardware and software. Today’ s computer industry is seeking greater
access bility, availability, and competibility through wider interconnecting systems. This will
provide many jobs for the right people.

(D) 29. Which of the following headings best expresses the main idea of the passage
(A) The Shortcomings of Computer Languages
(B) How the Local Area Network Will Work
(C) New Types of Hardware and Software
(D) Coming Opportunities in the Computer Profession




(C) 30. According to the passage, one reason for trying to develop a computer language like English

isthat .

(A) Englishisgrammatically smple and easy to learn

(B) Englishisan international language that more people use than any other language.

(C) alanguage would be easier for home-computer users than the symbolic and technica
languages now available but not friendly to the users

(D) dl of the computer programmers developing the computer language are English
speaking people.

Text D

The bubonic plague, dso known as the Black Degth, swept through Europe between 1347
and 1451, and remained endemic in England until 1666. Carried by the fleas which lived on
the black rat, the plague reached Western Europe from the Crimea, possibly on Genoese
merchant ships, and spread north from the Mediterranean during 1348. Everywhere the death
rate was high and, worse ill, the plague recurred regularly. The English population fell from
nearly four million in 1348 to just over two million in 1400.

Every feature of decline in the late Middle Ages, from deserted villages to a dump in
monastic vocation has since been attributed to the Black Desath. But this decline was, in fact,
more the consequence of growing manutrition, which became more and more widespread as
the uncontrolled population growth of the 13" century pushed thousands of cultivatorsinto
margind lands. The Black Death was the crigis. It grimly restored the bal ance between men
and their food supply  and, short of an agrarian revolution, there was nothing else that could.

The Black Degth was ultimately the catalyst in another process — the commutation of
labor service. The movement to change the labor system from afeudal one  wherein laborers
were required to work in return for goods and protection  to a monetary one was aready in
progress. However, landowners obvioudy opposed the monetary system, because they had to
pay for labor. But the attempts by employers to withhold wages and to restore labor service
everywhere were bound to fail, since the Situation now favored the employees. Ultimately, the
employers had to give away, and the commutation movement rgpidly accelerated.

(A) 31. How did the Black Deseth affect the commutation of labor service in the long run
(A) It became fagter than before. (B) It continued, but only for a short time.
(C) It stopped it temporarily. (D) It increased, but at a dower rate.

(D) 32. According to the passage, what was the commutation of labor service
(A) A reduction in the amount of wages paid.
(B) The movement of labor to indudtrid aress.
(C) Theloss of workers due to starvation.
(D) A change in the gatus of the [aborer.




(D) 33. What, in fact, was the real reason for the decline in living standards
(A) A reduction in the amount of arable land. (B) A surplus of food supplies.
(C) An agriculturd revolution. (D) A huge increase in the size of the population.

(A) 34. According to the author, what characteristic of decline has been blamed on the Black
Degth
(A) The abandoning of villages  (B) Thelack of food. (C) The death of monks.
(D) Theloss of crops.

(B) 35. The Black Death came to Western Europe from .
(A) England (B) the Crimea (C) Genoa (D) the Mediterranean

Text E

Menta dress can have potentidly fata consequences. Not only can too much stress push
us over the edge and make us act irrationdly, but it can build up over aperiod of time and
affect our ability to resst illnesses. The key to understanding the problem of stressisto redize
that these daysiit rarely servesits origind purpose — to prepare usto fight or flee from an
attacker. In days gone by, stress levelsrose in order to preserve our safety, before readjusting
and returning to normal after the danger had passed. Nowadays, however, the danger is more
likely to come from pressures at work or school. We cannot solve problems like this easily and
S0 the body may not return to its previous state for some time and may even remain & a
permanently raised leve of anxiety.

There are many ways of dedling with stress. One useful tip isto make alist of those
things you have to do that are urgent. The sense of satisfaction you get when you tick off each
item on your ligt helps you to return to your pre-stressed state. In a similar way, good qudity
deep enables you to start each day with afresh approach, as does exercise because it clears
your mind and enables you to gpproach a problem in adifferent way. In fact, just about
anything that alows you to step back from your problemsislikely to help. So, next time you
fed thetensgon risng at work, get up from your desk and open your eyes to something
different. Ten minutes outsde in the fresh air might be al you need.

(C) 36. According to the passage, we become ill more easily when we .
(A) actirraiondly (B) are pushed too hard (C) are under stressfor along time
(D) are unableto resist

(A) 37. The main difference between danger today and in the past seemsto be that .
(A) it is harder to ded with (B) itiseaser to ded with
(C) work and school are more dangerous (D) people a work and school like danger




(D) 38. What is the result of us not being able to solve problems easily

(A) The body goes back to how it was before. (B) The body becomes tired.
(C) Our dress levels are lower (D) Our stresslevels are dways high

(A) 39. The author seemsto think that making alist .
(A) heps you ded with your problems (B) makes you sttisfied (C) isurgent
(D) is stressful

(B) 40. What would be agood title for this passage
(A) The Higtory of Stress (B) How to Handle Stress
(C) Cope with Stress Through Sleep and Exercise (D) Change your Stressful Job

| l Compos?260%on

Directions  Many young adults have been trying to do things against the existing
traditions, such as motorcycleracing on the streets, dying their hair, having sex before
marriage and so on. In 200 wordswrite one or two paragraphsto expressyour opinions
on how to establish proper valuejudgments.
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